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Q1: Put (√) or (×) and correct
1) Reverse-crosslinking step in ChIP is essential to release beads from primary antibody.
2) The disadvantage of TaqMan PCR is the formation of the primer dimmer which could interact with the sybrogreen dye.
3) Methanol is the best reagent for cell permeabilization in the IF technique.
4) Immunohistochemistry is a very useful technique not only to measure proteins expression   semi-quantitavely but also to investigate their sites of expression.
5) In DNA extraction procedure, addition of 70% ethanol is essential to precipitate DNA. 
6) The process of boiling paraffin embedded sections in pressure cooker is to give slides a good clean before applying the primary antibody.
7) Blocking step is not essential in IHC, only, if the primary antibody is specific to the antigen   under study.

8) Trizol contains chloroform, which is important for lysing cells. 
9) In ChIP, crosslinking chromatin in formaldehyde is a safe step and could be done for a   prolonged duration.
10) dNTPs play an assistant role in RT reaction. 
Q2) Choose the correct answer
1) Protein expression could be tested using…..

-  IHC

- qPCR
- RT-PCR
- LM-PCR

2) To visualize the end product of Western blot, after washing off 1ry antibody you have to apply……….

A mountant (DPX or Canada palsm)
· A secondary antibody

· A secondary antibody conjugated to a fluorescent dye

A secondary antibody conjugated to a substrate
3)
Reverse transcriptase converts RNA to gDNA
Reverse transcriptase transcribes RNA to cDNA
RNA polymerase transcribes RNA to cDNA
RNA polymerase transcribes DNA to protein
4) IF stained sections are investigated using………

Electron microscope

Confocal microscope

Flourescent microscope

Phase contrast microscopy
5) In ChIP, chromatin has to be cleaved into ~500bp pieces using a process called…….

Savocation
Restriction digestion

Sonication

Sabonation

6) To avoid excessive cross-linking, cells have to be treated by…………after treatment with formaldehyde

Glycerol
Glycin

Glucose

Galactose

 7) TaqMan qPCR uses………
 A dye interacts with double stranded DNA

A dye interacts with double stranded RNA

 A probe contains a reporter dye and a quencher

A specific antibody to the gene under study

8) In the plasmid reporter transcription assay, E.coli bearing the CAT gene containing plasmids will be able to………
-Live in any antibiotic containing media 

-Live in Chloramphenicol containing media

-Oxidize Xgal containing media and give blue colored product

-Oxidize Lac Z containing plasmid

9) In agarose gel electrophoresis, PCR products could be visualized and documented by……

Staining the PCR reaction with a dye
Staining the agarose gel with Ethidium bromide 
Staining the PCR machine with a blue dye
Examining the unstained agarose gel using Ultraviolet light 

10)  Primer dimmers are formed if …….
DNA taq polymerase is complementary to one of the primers

The two primers are fully complementary to each other

The 5' ends of the primers are complementary

The 3' ends of the primers are complementary 
Q3: Answer all the following questions
1) Design an experiment to test the effect of a protein X on the trsanscription of a gene Y. 

2) Structural analyses showed that a given protein X contains DNA binding domain. Please answer the following questions:

What this protein could be? 
How could you prove your hypothesis
3) Histone methylation affects gene expression by recruiting other proteins. As a researcher, how could you isolate these proteins for further identification

4) Protein Z was found to be expressed in the cytoplasm of the cell. How could you know where exactly in the cytoplasm this protein is expressed?

5) It was found that ras protein is overexpressed in a wide range of cancers. Generally histone acetylation is associated with activated gene expression. Thus it is hypothysed that ras is hyperacetylated. How could you investigate this hypothesis?   
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